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BACHELOR OF SCIENCE (BSCG)
Term-End Examination

December, 2021

BBYCT-135 : PLANT ANATOMY AND
EMBRYOLOGY

Time : 2 Hours Maximum Marks : 50

Note : Q. No. 1 is compulsory. Attempt any four

questions from Question Nos. 2 to 8.

Draw well labelled diagrams wherever

necessary.

1. (a) State whether the following statements are

true or false : ×4=2

(i) Male gametes are formed from

generative nucleus.

(ii) The persistent nucellus is also called

perisperm.
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(iii) In permanent tissues the cells retain

the capacity to divide.

(iv) Zingiber officinale is an example of a

tuber.

(b) Fill in the blanks : 1×3=3

(i) ................ are made up of calcium

carbonate deposits.

(ii) Presence of more than one type of

leaves in a plant is called .............. .

(iii) Cells associated with the sieve tube

elements are called .............. .

(c) Define the following terms : 1×5=5

(i) Protoderm

(ii) Cladode

(iii) Anomocytic stomata

(iv) Collateral vascular bundle

(v) Homogamy
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2. (a) Differentiate between simple and complex

tissue and describe any one kind of simple

tissue of your choice. 5

(b) List various theories of shoot apical

organization and describe any one of them

with a labelled diagram. 5

3. (a) Define bulb and describe it with a proper

labelled diagram. 5

(b) Discuss the causes of Apomixis. 5

4. (a) List the various types of ovules found in

angiosperms. Draw and describe any one

type of ovule of your choice. 5

(b) Describe autogamy and discuss advantages

and disadvantages of self-pollination. 5

5. Describe secondary growth in a typical

dicotyledonous stem with proper labelled

diagrams. 10
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6. Define incompatibility. Differentiate between

intraspecific and interspecific incompatibility.

Discuss intraspecific incompatibility in detail

with diagrams. 10

7. Differentiate between any two of the following :

5×2=10

(i) Dicot stem and Monocot stem

(ii) Autochory and Anemochory

(iii) Amoeboid tapetum and Secretory tapetum

8. Write short notes on any four of the following :

2 ×4=10

(i) Fibres

(ii) Pollen sterility

(iii) Quiescent centre

(iv) Aerial roots

(v) Polyembryony

(vi) Composite endosperm
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1
2 4=2

(i)

(ii)
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(iii)

(iv)

× =3

(i)

(ii)

(iii)

× =5

(i)

(ii)

(iii)

(iv)

(v)
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5×2=10

(i)

(ii)

(iii)

1
22 × 

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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